Equivalent fractions

Question 1 _: fill in the blanks with the correct numbers , then decide
equivalent or not ( you can use multiplication tables in the bot )
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Question 2: fill in with the numbers that we multiplied by then choose
equivalent or not

3 x 6

5% 10

Ix1 =1 2x1 =2 3Ix1 =3 4x1 = 4 Sx1 =5

Ix2 =2 2x2 =4 Ix2 =6 AdAx2 =8 5x2 = 10
1x3 =3 2x3 =6 3x3 =9 dx3 =12 5x3 = 15
1xd4d = 4 2x4 = 8 3Ix4 =12 axa = 16 Sx4 = 20
1Ix5 =5 2x5 =10 3xS5 =15 a4x5 = 20 5x5 = 25
1x6 =6 2x6 =12 3x6 = 18 4x6 = 24 5x6 = 30
17 =7 2%x7 =14 3IxT = 21 aAx7T = 28 Sx7 = 35
1x8 =8 2x8 = 16 3x8 = 24 4x8 = 32 5x8 = 40
1x9 =9 2x9 = 18 3x9 = 27 4x9 = 36 5x9 = 45

1%x10 =10 | 2x10 = 20 | 3x10 = 30 | 4x10 = 40 Sx10 = 50

6x1 =6 Tx1 =7 8x1=8 9x1 =9 10x1 = 10
6x2 =12 Tx2 =14 8x2 =16 9x2 =18 10x2 = 20
6x3 = 18 Tx3 = 21 8x3 = 24 9x3 = 27 10x3 = 30
6x4 = 24 Txd = 28 8x4 = 32 9x4 = 36 10«4 = 40
6x5 = 30 Tx5 = 35 8x5 = 45 9x5 = 45 10x5 = 50
6x6 = 36 Tx6 =42 8x6 = 48 9x6 = 54 10x6 = 60
6x7 =42 TxT =49 8x7 = 56 9x7T = 63 10x7 = 70
6x8 = 48 Tx8 = 56 8x8 = 64 98 = T2 10x8 = 80
6x9 = 54 Tx9 = 63 8x9 =72 9x9 = 81 109 = 90
E6x10 = 601 Tx10 = 70O Bx10 = 80 Ox10 = 90 1 10«10 = 1C
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Question 3 :Fill in the missing numbers

( you can use the multiplication tables)

2 3 i
3 21 4 8
3 il 1 i
5 40 = - 1%
2 _ e
4 20 7 21
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